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191204: Avg value modAnode for 10000 ipps starting at:11:56:27
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28 ipps with bad modAnode pulse, plotted 4ipps/frame
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4 more ipps with bad modAnode pulse
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4 more ipps with bad modAnode pulse
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4 more ipps with bad modAnode pulse

\\\\\\\\\ T T T

1.0

0.8

0.6

0.4

0.2

T T

0.1 0.2 0.3 0.4 0.5 0.6 0.7

ipp [ms]

4 more ipps with bad modAnode pulse

1ofF
0.8
0.6
0.4

0.2

0.1 0.

T

2 0.3 0.4 0.5 0.6 0.7
ipp [ms]

o
o]

.8



modAnode value

modeAnode pulse showing how fast the signal drops
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modAnode amplitude
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modAnode outside of beam

8x10*

I I I !
K — C— -
7\ | | | ]
0 2x10* 4x10* 6x10*
1 usec samples
overlot ipps. start around 10:44:34
T T T ‘ T T T T ‘ T T
= |
L | | | | ]
5.0x10° 1.0x10* 1.5%10*

smp in ipp [usecs]



